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Before answering the questions, candidates should ensure that they 
have been supplied the correct and complete question paper. No 
complaint in this regard, will be entertained after examination. 

iz'uksa ds mÙkj nsus ls igys ijh{kkFkhZ ;g lqfuf'pr dj ysa fd mudks iw.kZ 
,oa lgh iz'u&i= feyk gSA ijh{kk ds mijkUr bl laca/k esa dksbZ Hkh 
f'kdk;r ugha lquh tk;sxhA 
Note : Attempt five questions in all, selecting one 

question from each Unit. Question No. 1 is 
compulsory. All questions carry equal marks. 

  izR;sd bdkbZ ls ,d,d,d,d iz'u pqurs gq,] dqy ik¡pik¡pik¡pik¡p iz'uksa ds mÙkj 
nhft,A iz'u la[;k 1 vfuok;Zvfuok;Zvfuok;Zvfuok;Z gSA lHkh iz'uksa ds vad leku 
gSaA 

  1. Explain the following in brief : 2 × 8 = 16 

 fuEufyf[kr dk laf{kIr esa o.kZu djsa % 
 (a) Devaluation  

  voewY;u 
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 (b) Ethics 

  vkpkj&fopkj 
 (c) Leverage 

  yhojst 
 (d) Currency crisis 

  eqnzk ladV 
 (e) EDI 

  bZ0 Mh0 vkbZ0 
 (f) Rural Marketing 

  xzkeh.k foi.ku 

 (g) Diversity  

  fofo/krk 
 (h) HRA 

  ,p0vkj0,0 

UNIT – I 

bdkbZ bdkbZ bdkbZ bdkbZ – I 

  2. Define Balance of Payment. What are the causes of 
unfavourable balance of payment ? Explain it.  

4 + 12 = 16 

 Hkqxrku lUrqyu dks ifjHkkf"kr djsaA Hkqxrku ds izfrdwy lUrqyu ds 
dkj.k D;k gSa \ o.kZu djsaA 

  3. "E-learning is an effective tools in present educational 

scenario." Explain this statement. 16 

 ^^bZ&f'k{k.k orZeku 'kSf{kd ifjn`'; esa ,d izHkkoh midj.k gSA** bl 
dFku dh O;k[;k dhft,A 
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UNIT – II 

bdkbZ bdkbZ bdkbZ bdkbZ – II 

  4. What are the causes for financial innovation ? Why 

financial innovation does occur ? Explain in detail.  

8 + 8 = 16 

 foÙkh; uokpkj ds dkj.k D;k gSa \ foÙkh; uokpkj D;ksa gksrk gS \ 
foLrkjiwoZd o.kZu djsaA 

  5. Explain the various recent trends in banking sector in 

India. 16 

 Hkkjr esa cSafdax lsokvksa ds fofHkUu orZeku :>kuksa dk o.kZu djsaA 

UNIT – III 

bdkbZ bdkbZ bdkbZ bdkbZ – III 

  6. Write the short notes : 8 × 2 = 16 

 laf{kIr fVIi.kh fy[ksa % 

 (a) Rural marketing strategy 

  xzkeh.k foi.ku j.kuhfr 

 (b) Retail challenging in India 

  Hkkjr esa [kqnjk pqukSrh 

  7. Explain the recent evaluation in e-marketing in India.  
16 

 Hkkjr esa orZeku esa bZ&ekdsZfVax ds fodkl dh O;k[;k dhft,A 
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UNIT – IV 

bdkbZ bdkbZ bdkbZ bdkbZ – IV 

  8. "Managing diversity is an important and difficult 
task." Explain this statement. 16 

 ^^fofo/krk dk izcU/ku ,d egÙoiw.kZ vkSj eqf'dy dke gSA** dFku 
Li"V djsaA 

  9. Write the short notes : 8 × 2 = 16 

 laf{kIr fVIi.kh fy[ksa % 

 (a) Model of Human resource accounting  

  ekuo lalk/ku ys[kkadu ds ekWMy 

 (b) Challenges of Information Technology on HR 

  ekuo lalk/ku ij lwpuk izkS|ksfxdh dh pqukSfr;k¡ 
 

 


